Name of the Trade - Wireman - 1°' Semester NSQF - Module 1 - Safety practice and Hand tools

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level
What is the expansion of ABC in first aid Airway Bleeding | Airway Breathing | Airway Breathing | Accident Breathing [ &S gleHo2ul dellxle] ARaA odlslol ARaA ofldlot ARa ofldlo Aelldoe ofltllo B 1
treatment? Circulation Circulation Carefulness Carefulness YoM g B2 usgdAalet usgdAalet LR ICEEl EREICE L
Which is the colour code of warning signs? White symbol on | White symbolon | Red border and Yellow background [AdaRll Asdlall sAR sls sl 82| cslfe Rlollet Mlet | cslefe RIlA ol | S GllSR oS sl | Al AsUGBos fla | D 1
blue background | green background | cross bar, black | with black border and o¢] AsAUBoS flot AsALBSS olR, 6As Ruslled ods oll$R oS
symbol on white symbol AUlot calefe Rulcd

Which category of basic sign refers to avoid Warning signs Mandatory signs | Information signs Prohibition signs  |e19et %2llclal 2loicll Hidell Acdall Ral sAPaud Ral Hledl Ral Yldolt Rlal D 2
naked flame? (Rausll Jaed Rausllel s¢

AellHi 2w 8?2
Which category, the fire due to gas and Class 'C’ fire Class A’ fire Class 'D’ fire Class 'B’ fire AU A [AlAZE el R SCULU "C" $lAR SCULA "A” SL212 sCULA "D" $lAR SCULA "B S22 A 1
liquefiable gas comes under? ALAL AL 521l Rl WA B?
What are the factors that must be present in Fuel, heatand |Fuel, temperature, | Fuel, hydrogen, | Fuel, heat and oxygen [419loll 20%etHl sl WRolol ol SRHl Aol | oy, dlunlel, | oldgl, sleglaet, | dade, sRHl #al | D 1
combination of fire? hydrogen hydrogen oxygen alal SN ? sleQloget sleQloget V(AL W (SAs ot
What is ‘smothering’ in extinguishing of fire? Adding the fuel | Removing the fuel | Isolating the heat |[lIsolating the supply of [0 ¢atcictHl WU g B2 [ WUWDHL tacd)l Al dndel A oRlA [l HsA%stall | D 2

from fire from fire from fire oxygen from fire GRRq €2 59 weoL wsdl Yatslal AU WS

Which type of fire extinguisher is used for fire on | Foam extinguisher Water filled Stored pressure Halon extinguisher {(Agct GUSQUHL AL HIE sl $lol wOa2UMs ulell ekl Aaulect eaal &Cllol A 2AMS D 2
electrical equipment? extinguisher type extinguisher Ys(Rell AUOAWHS Ultet AU VEAWHS Ultlel | YsIRall AUPAAMHS UlYet

87 Gus?L
What is the name of PPE illustrated below? Apron Leg guards Face shield Hand screen o{lA Rl allact UlUlee] AYlat QoL oud %A les &a5 Wlal A 1

ollH g B?

§
What is the meaning of safety? The occupational | Provide safe work |  Giving first aid The freedom (or)  [dciHdloll A g B? Rci@s Sl | deHd sl W | B yeaks oI5t AuH B 1
hazards environment treatment to the | protection from harm, AldladRBl Y3 ulsq ARAR uudl CREDIRERETRT
victim danger etc.. (RAA) &L




10 |Which Personal Protective Equipment (PPE) is a Helmet Goggles Nose mask Leather aprons  [{Woll &0l HI2 sl Ulsld e EE olo3 MRS AU AYlat
used for eye protection? YlRsdla glsauiee (UUL8) «ll
GuadL e B?
11 |Which purpose leather aprons are used as Ear protection Eye protection Body protection Face protection  [$l & Ml AHSLell AYlatall slol 280l L 3R Qe USR] 8L
personal protective equipment? Gualol udad Wesdla
gsauiee (UIUlE) a3 aa B2
12 |Which concept of 5s indicates standardization? Step -1 Step - 2 Step - 3 Step - 4 5s oll 52l vAA VU1 RU-? RU-3 RU-¥
Hlatsdl(standardization) YU
8?
13 [Which waste is used as a fuel for the Bio-gas Chemical waste | Argicultural waste | Waste produced | Waste produced by [¢ll20l-0l1 ULCR Wellogall (Rl AA2ARS 52U FOERR) o A dAHiedl Beauzrt | HERN wal yiell
power plant? from the water the men and animal |31} 52 5AUA AU B? Ul sUA gLl Gauat Al sAUJA
source
14 |What is cleaning? Preventing the Removing Keeping the things | Keeping the working [4$l& 2@ ¢J? atRAe(l sletdl o wllcRemiddl Refall AARAA | 5-NR AAMA
additional matter | unwanted matter in systematic place in safe situation westdll vwsellal uetdal | olsaHi vl | URRAMI wwg
from the arragement &R 5q
environment
15 |What is the name of the tool? Combination plier Wire stripper Crimping tool Side cutter Ulbote] ollH g B? slollaalet Ldl2AR arR VIR slfloL et ALS 522
16 [What is the name of the tool? Poker Gimlet Bradawl Rawlplug tool Ulboto] ollH g B? uls? ®HAR aslet AGAAHOL A
N .
5
17 [Which screwdriver is used for driving star headed Connector Philips screw driver|  Heavy-duty Insulated screw driver [R21R 855 g HIS 53 g L8R salseR g sldR | slellwt g gufar | @cl-sycl g SlaR | 8JARS 3§ SlaAR
screw? screwdriver screwdriver duRld 8?
18 {In which type of hazard ‘virus’ will belong? Ergonomic Biological hazard Physiological Phychological hazard [s2l UslRail UM ‘Ul AW(AlM s ¥lds Use ARIRS Ase UlelRAs WAL
hazard Aoild 822
19 |Which one is the example for chemical hazard? Fatigue Bacteria Corrosive Sickness AUAWLS S Hies] GeleRQ uALS olsefzal sl cdldl uieoll
53 82
20 |What is the goal of the occupational health safety?|  To maintain To co-operate with | To provide a safe To keep the work  [clallRls wRlo ActH o] Bl actall 12 AesAsA WA AAHA sl 12 [slana yus ua
discipline co-workers work environment | place neat and clean |cled g 8? UESIR AUl AlcdlalRBl Y3 WSY | e vl M2




Name of the Trade - Wireman - 1°' Semester NSQF - Module 2 - Wiring Joints and Soldering

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level
1 |Which is called valance electron in an atom? Half the total No of | No: of electron in No: of electron in No: of electron in  [HQHL AQeU BASYL SUL 5S> sasglotoll st HEAH GRSl Al vigRell Al olelRell D 1
electron middle orbit inner most orbit | the outer most orbit |®? AuAletl wUSsUL el &@,%aoicr{l YUHRLEAML 6 UHBE&ML e
vl 8As2eto{l vl BAs2eto{l vl
2 |How many electrons are in a copper atom? 27 28 29 30 SIUR AURHL S2cll BASet sl 87 27 28 29 30 C 1
3 [How many number of electrons will move in one 6.24 X 10%° 6.24 X 106 6.24 X 10Y 6.24 X 1018 55522 IRl As AR Yale U 6.24 X 10° 6.24 X 10 6.24 X 10Y 6.24 X 1018 D 1
second for one ampere current through the s ASSHL Secll BASt AL
conductor? aAud?
4 |What is the property of direct current? Magnitude and Magnitude and Direction of current Magnitude of staRse 52(SLAL) ofl ctlatgllscdl [ WA YU Al [UHA AUA YU Al | UM AU 20l A7HA AUA YA B 1
direction of current | direction of current | changes with time | current changes |9} ©? s2eoll (Bau olecta | s2eoll (Bau As o et & HEAl B
changes with time | remains constant with time Ul 2% ®
5 |Which effect is produced, if the current is Thermal effect Magnetic effect Chemical effect | Electrostatic effect [$5522 HIell 522 UAMR A &, cl Gullal AR Jouslal AR RARAMAS AR gAsalells WA | A 1
passed through a conductor? 565 WU Glal A B?
6 |Which effect is produced, if the current in Heating effect Chemical effect Magnetic effect lonisation effect  [sl8cHiedll 522 AR a2 Al 58 (&2t AR RARANRS AHUAR Jolsla AR BRAAISRAA HUR | C 1
passed through a coil? AR Geud wA B?
7 |Which effect of electric current is used for the Shock effect Chemical effect Magnetic effect lonization effect [HlolRls €€loll ARAR HI& 8AES s AR RARANASs AR Jousla uAR VRAAASDAA AU | A 2
treatment of mental patient? Yaltgell 565 ARl GUlloL Al
8?
8 [What causes the effect in evlation of Heating Chamical Magnetic Kinetic yalell 822 UAR 83l [dueatell (&2lat QAU Jousla ald B 1
constituents due to decomposition in liquids by ylsal 8cll uaaoil_ HERUS UR
flowing current? VAR YUclle] 5120 g B?
9 |What is the name of the measuring tool? Outside micrometer | Inside micrometer Vernier caliper  |Standard wire gauge [HlUet Altoto] ollH 9 87 B2 AES eSS HBsHle: collaR 3cdluR RleSS dlaR % | D 1
wgsi{le?
8
10 [What is the expansion of SWG? standard wire gauge | stranded wire gauge | standard wire grade | standard wire group [SWG of Y3oii{ 9 87? RS claAR Aoy R3S AR A RS alaAR S VeSS dlR YU | A 1




11 [Which conductors are used for distribution Insulated conductors|  Insulated solid Bare condutors Two core cable |52l 8o552201l GUAL Slaglejalet | BaRJASS 5582 | BeyAes Acls olR §582R 2 8RR sud
lines? condutors Algell HIe ARl B? ENEER
12 [What does ‘7’ indicates in 7/20 cable? Insulation grade Diameter in mm No of conductor | Size of conductor in [7/20 30lctHl ‘7' 9 YuA 8? BorA2let S statleR mm Hl ss5220l Aval $5520( USRS
gauge Sl
13 [Which insulating material is used for insulation Mica Fibre Plastic Leathroid BoA2Uol U Hle $8 BaJAZI0L s SLEGR R s AUAE'S
tapes? AHA GUDoL UlA B2
14 [What is the reading of the micrometer? 4,05 mm 4.15 mm 4,50 mm 4,55 mm Hesl{leRe] alUet g B? 4,05 mm 4.15 mm 4,50 mm 4,55 mm
= |10
01234=
— |5
=|o
15 [What is the purpose of additional covering over To increase To add more To increase the To protect the wire [8e]JAeS §552201l BoJAAoL UR SIBAles sl [allAs alsal duRal | $22 dget Hdl alRa Y&l

the insulation of insulated conductor? dielectric strength | mechanical strength | current carrying dURle] sAR sclloll & 9 B? adlal Hie HR aulRadl Hie $cll U2
capacity
16 |What is the name of the wire joint? Aerial tap joint T’ joint Knotted tap joint Plain tap joint  [cl2AR Eoea] olli 9 8? ARaA U A2 T ol ales eU Bl WQASet U %S

EL11101A

17

Which joint is suitable for law current circuits
only?

Double cross tap
joint

Western union joint

Scarfed joint

Aerial tap joint

s W2 §5c Al 522 AUlseA
U2 Al B?

SUA Sl U BleTe2

el Yollauat WSe2

wLEs wlSoe

ARaAA U A2

18

What is the name of the wire joint?

SOLDER

WMN1Z2L1 035

Brittania "T" joint

Western union joint

Brittania straight joint

Married joint

AR W So2a] ollH g B?

lets{lan "T" W\See

Azal Yollauat W e

REEIBIEEEE
A eSo2

A3s o2

19

Which type of tap joint is suitable for low current
circuit?

Plain tap joint

Aerial tap joint

Knotted tap joint

Duplex cross joint

sl U Ao cl 522 Alsey Ml
A0 87

AS 2U B2

ANRAA U o2

alles 2U lefoe

swaal sl e

20

Which type of joint is used in over head lines for
extending the length of wire?

Scared joint

Britannia ‘T’ joint

Western union joint

Married joint

claRell dolle cuRal HE2 AR
85 CABaHlL 5L UslRell B2 oll
GUoL AlA B?

S Ao

ete{lan "T" W Soe

Aeal Yollauat W2

A3s Ao




21 [What is the name of the soldering? DIP soldering Temperature Soldering with Soldering with blow [Acs[Rale] ot 9 82 Sy AesAdL SLURAR 52165 Ales3aL Jla Aol dla oAl
controlled soldering soldering gun lamp AesaL AesAdL et aw
22 |Which metal is used to make soldering iron bit? Iron Steel Brass Copper AESEat w2 ofle aetlaal 1 el Xlad ol slUR
58 tlldell GUAdL A B?
23 [Which soldering method is used to solder under Dip soldering Soldering iron Pot and ladle Machine soldering [s52 UGeS S0 X2 oll Slu AesAat Aol el AuUs| We Aos Ascd Qs [Hellot Aes3ol Aas
ground cable joints? method method method AesRat 1R 58 WesFal ugldeall
GualloL aL 8?
24 |Which solder is used for soldering aluminium Fine solder Resin core solder Alcap solder Tinman solder  [AGAAAH §5522061l AES[RIL $lSotl ACSR 00t 8l AESR AU AESR oot AGSR
conductor? H2 sl AESN GUAL UL B?
25 |Which soldering flux used for soldering Rosin Zinc chloride Sal ammonia rosin | Diluted chloric acid [8Qsglsc x&Se2all Aes(al Hie 08t Als sARBS AU AH A2 At | siFR]e sAlRs
electrical joints? sl AESIL sEsUall GUAdL Ul AR
8?
26 |Which metal is soldered by using zinc chloride Zinc Bronze Gun metal Galvanised iron  [oils SARIBS sAsUA AES A% e ollods dlel Ned SRS Al2lel
flux as solder? GUALL 53 58 g WS
gcULHL A B?
27 |Which is to be added to recondition the solder? Tin Zinc Lead Rosine AlesA g3l sal Hie 53 AR clot Als as et
R SA?
28 |Which colour band of resistor indicates the First band Third band Fourth band Second band  [R3}|2Rell sl SR WoS YU olos Alogl Kos Al Aos ollesl Ao
multiplier? HedlelaR yud 82
29 |Which resistor is known as photo-Conductors? Light dependent | Voltage dependent PTC resistors NTC resistors |52l e Hlel so552d 35 algse SlUede Az SlUede2 PTC 3R NTC (e
resistor resistors wOuwA §? e e
30 [Which material is used for making wire wound Manganin Graphite Tantalum Carbon clAR clBoS ABRR olatlalal ML Nodlo{lot DEEE 2aeledH slolol
resistors? sl H2Raucel GuAloL Ul B?
31|Which is the example for metal film resistor? Carbon Eureka Maganin Michrome Which is the example for metal film Carbon Eureka Maganin Michrome

resistor?




32|What is the reading of galvanometer in High deflection Low deflection Null deflection Vibrates What is the reading of High deflection Low deflection Null deflection Vibrates
wheastone bridge at balanced stage? galvanometer in wheastone bridge
at balanced stage?
33|Which formula is used to calculate the value of Which formula is used to calculate
unknown resistance (R,) in wheatstone bridge? P S P Q the value of unknown resistance P S P P Q
Ry =—XxS Ry =—xQ - _ X |(R) in wheatstone bridge? Ry =—XS Rx =—xQ Ry =—xQ Ry =—x=
X" Q X p Rx=gXQ | Rx=2xg ™ Q P s Xx"27s
$
1| %
34|What is the condition, if zero current is flowing Balanced Unbalanced Short-circuited Open circuited What is the condition, if zero Balanced Unbalanced Short-circuited Open circuited
through the galvanometer in Wheatstone current is flowing through the
bridge? galvanometer in Wheatstone
bridge?
35|Calculates the value of unknown resistance (R) 480Q 320Q 280Q 240Q Calculates the value of unknown 480Q 320Q 280Q 240Q

is connected in a wheat stone bridge at
balanced conditions, if P = 350Q , S =200 Q
and Q = 420Q7?

resistance (R) is connected in a
wheat stone bridge at balanced
conditions, if P =350Q , S =200 Q
and Q =420Q?




Name of the Trade - Wireman - 1°' Semester NSQF - Module 3 - Basic Electrical Practice

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level

1 |Which is conductor? Wood Zinc Rubber Mica $o5522 53 B? alsg Als ROR RGEN B 1

2 |What is the property of good conductor? Must have low Must have high  [Must have low tensile Must have low [ cllesell g QUM slA 8 ? wel (Alelre G sIBAlse S WO AL Alsa  [olly actat lolg 8lg | A 2

specific resistance | dielectric strength strength melting point URAY A % | AGA Alcll & WA alcll o A o gl
Re5A

3 [What is the advantage of stranded conductor More rigidity Flexibility High melting point High mechanical  [fclls alesell detottil oS ay sélcll sAsAlolldlZl G dlctat [olg G allds allsal B 2
compared to solid conductor? strength $552201 SlAEL 9 B?

4 |What is the main property of an insulator? Low resistance Low melting point | High temperature co- High dielectric AAesell Hud ORI 9] sl © o(l2A AcRAY o{l3] alcat (olg GA SIURAR 8l- Gl 18 sAlses D 2

efficient strength ? Aglllaee Rl

5 |What is the voltage grading range of high 0V - 250V 650K - 33000V Above 33000V 250V - 650V 8les cleeosall clceos Sl 3o 0V - 250V 650K - 33000V Above 33000V 250V - 650V B 1
voltage? secll B2

6 [Which voltage grading 1100 volt belongs? Low Voltage (L.V) Medium Voltage High Voltage (H.V) | Extra High Voltage [sll clce% 9[Sol 1100 dlceo] 87| el dleex (L.V) Hlslan dleees sl cdlw (H.V) | vkl el dlees | C 1

(M.V) (E.H.V) (M.V) (E.H.V)

7 |What is the voltage grade range of medium 250V-415V 250-650V 1.1KV-11KV Above 33000V What is the voltage grade range 250V-415V 250-650V 1.1KV-11KV Above 33000V B 1
voltage? of medium voltage?

8 |Which law states the relation between the Oohm'’s law Kirchoff's current law | Kirchoff's voltage law | Laws of resistance [s2al [latd U0 dluHlal olu AsHoA [Aaun S1RA% oll 522 oll | SRAS oll cAlc%all | wcRAoll Al A 1
voltage current and resistance in a closed UBeul AR, 532 ol A Qan Qan
circuit at constant temperature? Rl Aolu el B?

9 [Which electrical quantity is inversely Resistance Voltage Power Energy waall [ ol dlayale RoflRest Al UlaR Aol A 2
proportional to the current as per ohm’s law? 5¢ [an A2 ol card YL

sl ®?
10 |Which bulb will have lowest resistance? 240V, 60W 240V, 100W 240V, 200W 240V,500W s2ll olcotHl Wl BN AR 240V, 60W 240V, 100W 240V, 200W 240V,500W D 2
o?

11 |Calculate the value of resistance connected 0.4 ohm 0.04 ohm 25 ohm 400 ohm 100 V Al dleesdl st 0.4 ohm 0.04 ohm 25 ohm 400 ohm C 2
to the supply voltage of 100V and current weRuUMil 4 A 522 UAUR AA
through 4 A? Al AaRuell Heauoll 213l 53

12 [What is the S.I unit of specific resistance? Ohm/cm Ohm/metre? Ohm-metre Micro ohm/cm? | QR AcRluell S.1AsH 9 B? Ohm/cm Ohm/metre? Ohm-metre Micro ohm/cm? [® 1




13

What is the spcific resistance value of copper
conductor?

1.72 micro ohm/cm?®

1.72 micro ohm

1.72 ohm /em®

1.72 micro ohmmeter

SLUR clgse] (Al ARl
Hel g 87

1.72 micro ohm/cm?®

1.72 micro ohm

1.72 ohm /em®

1.72 micro
ohmmeter

14 [What is the effect in resistance of the Increase to two times | Increase to four times| Decrease to half the | Decrease to ¥% ™ [ &Sl call:l UHBN $cUHL olHRI U AR 2RI UA sl U Alal eldtell Ul
conductor, if its diameter is doubled? value value UA dl doll WY 32l U?
15 [Which is directly proportional to the Area of cross section Length Resistivity Temperature Alesotl WUARUARUH YHIQHL 9 | AUEDE AASNO douss URUS AL lUHLet
resistance? 8l 82
16 |What is the total resistance (Ry) if Ry, Ry, Ry Ri=Ri+R+Rs | . 1 1 1 Rr=R; R, R; 1 %l R1, R2, R% AR st Rr=R; + R, + R, T Rr=R; R, R; 1
are connected in series? TR R TR. = ————— |8 A et WAsk (RT) 32l rE———— 1
Ri Rz Rs R, +R, +R; 8? § Ri Rz Rs T R, +R, + R,
17 |What is formula to calculate electric power 2 R P=IR P =I/V 8alses ulaR (P) ol ozl 5 R P=IR P =I/V
(P)? P=I"xR P=— 2o Yt g B2 P=I"xR P=—
v? v?
18 |What is the change in total resistance value, Decrease Remains same Increase 2 times | Increase to 1.5 times [l cltlRell (%2 AHIAR °29l ARV % @ B 2 21_0 cugl 1.5 01l dul
if additional resistor is connected in a parallel UlBeHl Blsaml 2, Al gat
circuit? Attt YeAMT 9 3812 AA?
19 |Calculate the value of series resistor? 1380Q 1390Q 1400Q 1492Q AR ARl [Sucall 213l 1380Q 1390Q 1400Q 1492Q
R
12w
Re? 10v
1
L
E—C YY) VAR ¢ SA— g
20 |Which law states that in each closed circuit | Krichoff's current Law |[Krichoff's voltage Law| Law of Resistance ohm's law Sl Ul sAllos (U ML Al URell | SlRAg oll 522 oll | SlRALS oll clcdsall | wcRuell [al UeHA [Aaun
the sum of all voltage drops are equal to zero? A U ol ol ol (BERT (an
AR 9ol AU B g sl
Qad eada & 2
21 |Which law is used to determine the Ohm's law Krichoff's Law Law of Resistance Lenz's law 52Ul [clAHell GULDL slecls ol Ul [laAH FEREE I SEM ARl (2l Aoddell [olaH

equivalent resistance of the network and the
current?

g220ll UMl YASRA otssl
sl HI2 UlA B?




22

Which is the correct equation based on
Kirchhoff's first law?

WMN13L20Q24

|1+|3:|2+|4+|5

Il+|2+|3:|4+|5

|1+|2=|3+|4+|5

|1+|2:|3+|4+|5:0

SRAUSU USCEL [AAHeAL BUUR
o2 A8 52 ©?

|1+|3:|2+|4+|5

Il+|2+|3:|4+|5

|1+|2=|3+|4+|5

|1+|2:|3+|4+|5=0

23 |Which method is used to measure low Voltmeter ammeter Slide wire, bridge Post office base Kelvin bridge method [l A cRlual Hiucl He s dlceHle? AHleR | wueSs cuar, ol Wee A $lu A» Accllot ofls RS
resistance? method method method Ugldell GuioL atal d? nas nas nas
24 |What is the value of voltmeter resistance (R,) Equal Low Very low Very large adlceHleR ABeaA (Rv) of YA UY ) vol Ay Yol dulR
compared to resistance (R,,) to be measured? Hiua izt et (RmM) <ll
detetiul 3e¢ 82
R,
. (n) —
O]
nf’ g
- =25 z
25 |Which defines that the changes in Thermal expansion | Thermal conductivity Temperature Thermo dynamics [cllUHLletHl 1°C oll dulR AUdl >ild (ARl gdd alesdl SIRAR Yl staasu
resistance in ohm per 1°C rise in coefficient UARUHL Ul 3R§1RaA 9 sdal siAglallaoe
temperature? 87
26 |Which material have negative temperature Carbon Tungsten Nichrome Mangnin 53] HelRad adlEla eruRAUR 8l slolat 2oReal RGN N3o{let
coefficient? Aglllace ud B?
27 |Which resistor has negative temperature co- Sensistor Thermistor Varistor LDR resistor g2l AB UL ANl SIURUR A2 UllReR BIERTE LDR (oe?

efficient?

8 Agldlelee sl B?




Name of the Trade - Wireman - 1%' Semester NSQF - Module 4 - Basic Wiring Practice

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level
Which switch is having four terminals? Single pole one way | single pole two way | Intermediate switch Pull switch 565 A A UR eflotcd Sl © 2 ROl W dot A [RLd Wt ¢ A | SoeuldlAe [ Yy C 1
switch switches flu
Which type of holder is used between Edison screw holder | Goliath screw holder Bracket holder Angle holder 200W ¢l 300W oll QXU HIZ S Adlatet 5 elesR oNAlAU g eles? ake &lesR Aol Bles? A 1
200W to 300W lamp? YslRell 8les? duRlA 82
Which switch is having a spring-loaded Intermediate switch | Push button switch Pull switch Double pole switch [RUSL-Al3s seat sl RAuUl glat B] SeelSlAe <lu Yal ol2et (A Yy sold Wt <l B 2
button?
What is the name of BIS symbol? Lamp Two way switch Intermediate switch | Multi - position switch [AUE BIS RIGIE of olti QU JoREN] FESEEEN o312 U | uRlWAlast :dla | C 1
What does the symbol marked as ‘Y’ Number of switches | Number of wires run | Number clamps (or) Number of the ugld Wl elda 'y’ g elld 8 2 | slscltoll rellAoll A ul uR (35U sRclloll sQRRL | (35U s2cllell Aeat B 1
indicates? to be connected on the limb clips to be fixed battern (or) pipe to Al elstaclatl clarell | (aaa) Gawsll (eal) wesuell
be fixed Hul Hu=4L Hu=Yl
A
Which supply voltage the fire alarm 240V AC 220V DC 110v DC 24V DC $l_2AR Al wlse sal A 240V AC 220V DC 110V DC 24V DC D 1
circuit works? Al UR sIH 52 B?
Which is used to sense the heat in fire Varistors Light dependent Sensistors Termistors slaR A AlFeui aRHlell AlRweR Aalge slledod Aox{lreR BIREEE D 2
alarm circuit? resistor USAURA sal HL2 el GullaL A2
A 8?
What is the voltage range of DC series 110 volt DC 200 volt DC 220 volt DC 230 volt DC DC {3l MCB ol cllee 3% g 110 volt DC 200 volt DC 220 volt DC 230 volt DC C 1
MCB? AAD 2
Which MCBs are designated to protect L series MCBs G series MCBs DC series MCBs L series and DC  [82[l MCB o 8ol Als Al L {13l MCB G dlRl» McB DC AI3l» MCB L Rl ;al DC B 2
circuit with inductive loads? series MCBs UBeA YAAA sal U2 wolldd A3 mcB

87




10 [Which classification of accessories, Outlet accessories | Safety accessories | Holding accessories | General accessories [flclol 133 A sl ystRell UGe A2 WAAIA DERENREEIR sleslol AAUR» ool VAU
ceiling rose belongs? AAUI3ell YUnl A B?

11 [Which type of accessories, the fuse Controlling Holding accessories | Safety accessories | Outlet accessories |52 A sl Ys(Re{l UAURIAetl PREIEIENRETER) alesol AAUI A3 AAAINR B2 A2 WA
comes under? accessories YuUHL wa B?

12

Which is the purpose of iron load fuse cut

To protect the line

To ensure the line is

To protect the

To protect the

R AU MSIQHL w2l ALS

ALBotal AR

ABaHidl 325 522

AU Aot N

sl 205Ul

outs used in domestic service from over voltage | not loaded beyond service line from inmates from shock |$423 s2 2UG2all Gullol sal 3qell | Aol slautdal sl ay Als ol A | uBeell cutaal we oLl
connection? rated current shotr circuit U 8?2 HER YRR sal w2
13 |What is the height the switch shall be 1.3m 15m 20m 25m What is the height the switch shall 13m 15m 20m 25m
forced above the floor level as per NEC? be forced above the floor level as
per NEC?
14 |Which is the vertical clearance of low and 1.2m 25m 5.8m 6.1m IE [l xojR sxiRAlEdl A 1.2m 25m 5.8m 6.1m

medium voltage lines from buildings as
per IE rules?

U Hlslan ARy cdlgells
aAlsc(Ge)) scllarad d2q 8lg
GRS

15

Which is the value of resistance
permissible as per IE rules?

Not more than 1 M
ohm

Not more than 2 M
ohm

Not more than 3 M
ohm

Not more than 4 M
ohm

IE (2l ot uRallotd{l wiat
ARt Yel 3eq B?

L AlleH dl ay ole

R Alen Ul ay «(fé

3 AleH Yl ay e

¥ ulleH Ul ay «e




Name of the Trade - Wireman - 1°' Semester NSQF - Module 5 - Cells and Batteries

Question OPTA OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans | Level

Which is the formula to express Faraday's 7 _ it 7t $RA3ell sAsAR{Y ol [Aaina 7 _ it Zt B 1

law of electrolysis? M = m M = Zit M= b M = = gallaal H2e] Yt 53 B2 M = mn M = Zit M = 7 M= -

What is the process of chemical Electromagnetism Electrolysis Electron theory Electro statics  |8AsglctdaHiel UAR AUdl 8AsANA (23U sas2lclAlx saslel Ala3l BAs2 w2lsA B 2

decomposition produced by current passed acdMlet gl Geault o emta@s

through electrolyte? Queatoll ulsa g &2

Which is the negative (cathode) electrode in zinc copper carbon Silver oxide RlcaR ASABS AAHL ANElal AMs s\UR slolat RleaR ASAESS A 1

silver oxide cells? (3es) sAsAS saAL sl B?

Which is rechargeable cell? Voltaic cell Carbon zinc cell Lead acid cell Mercury cell R scll AUERULTHUA) A dlls A slolet ofls A As AAls A HRsYIl Ad C 1
sl B?

Which material is used as positive electrode Zinc Carbon Copper Lithium slal AdHl WR2la 8aAs2s AMs slolol SIUR dlellan B 2

in a dry cell? A3 56 wHlell Gullol auld
8?

Which is the negative electrode in voltaic cell? Carbon Copper Zinc Lithium AEls AUl A 2la 8As2S slolot slUR Als dlellan C 2
sl glad B?

Which electrolyte is used in lead acid battery? | Diluted hydrochloric Concentrated Concentrated Diluted sulphuric acid [Qs ARs 2l saul He slolsAlRs $loAotees slodlotges WeldlaH | He uesyRs RS | D 1

acid ammonium chloride | potassium hydroxide sAs B2l GUALdL UA B? AR AU AAUH SARBS BLBISULES
What is the part marked as ‘x'? Container Plates Separators Terminals X 35 slcdlde oL 9 8? Soe iR Az AureR Faetel B 1
:




9 |What is the name of the part marked as 'x' of Seperators Container Post terminal Plates dls ARAs Ae3letl X 35 AUReR sootfol? ke 2elcd et
lead acid battery? R 4t edle] oliH 9 B?
2
i
10 |What is the purpose of seperators provided in To avoid short To avoid short To avoid buckling To avoid As AR Az3ul DEHEETE] el ual olldl olscllol BRRAL  [ASA e 2t WAL
lead acid battery? between positive and | between plates and effect sedimantation effect |([Qalss@UreR) Awcllall & 9 Al A2l CEDETEENE olalaal M2 olaulelall M2
negative plates body 8? CED RN ulBeell olulaal e

ulSeall ctautcten 12

11 |Which material the positive faure plates are Spongy lead (P,) [Lead peroxide (P,O,) Lead sulphate Zinc sulphate (Z,S0,) |Which material the positive faure | Spongy lead (P,) Lead peroxide Lead sulphate Zinc sulphate
made in lead acid battery? (P,S0.,) plates are made in lead acid (P,0O,) (P,SO,) (2,S0,)
battery?
12 [Which formula is used to calculate internal SINRA)e WARS HARAU (Ri)
resistance (R)) of a cell? I I, V-E E-V ofl AR sRell M s Y2AA | R I R - I, R — V-E R _E-V
Ri:E v Ri:V E Riz R = GualloL uRL 87 i E_V i V_E o T
—_ — IL I L L

13 {Why cells are connected in series? To reduce total To obtain higher To obtain higher Toreduce current  [Actal 2l Hie ARIHL AsalHl | gt dleew walsal |ay s2 nadcl Hie| ay dlees Hadal | §2 ualsal Hie
voltage current voltage A B? w2 R
14 |What is the name of the charge that given to Boost charge Freshening charge Trickle charge Initial charge ol al5oL 2lge eAHaulel ay o U SalolloL U 2lsc U Sollac e

a battery if it is in danger of becoming over
discharged during a working shaft?

(3% acito] BuH dlat ll
A3l AUAA A ol 9 B?

15 | Which method is used to charge the battery Rectifier method Trickle charging Constant current Constant potential  [ol23lal yod o{lul €3 Ua Eloll AsesaR ugld @5 AP ugld | slreoe 522 Ugld [sleese dle usld
at very low rate and long period? method method method AHA U U scl HIR 5
Ug(dall Guallol e 82
16 |Which instrument is used to measure Barometer Hydrometer Lactometer Thermometer sasglaisedl AAsls AlAdla aAHle? sloglle? Asalle? yrHle?
electrolyte specific gravity? Ul HI2 sl Aldetall UL
AA B?
17 |Why the vent plugs are kept open during Check the level of Release the gas Enter the oxygen | Check the condition |As 2Als dl2zl ulPdL €Mt | sAsglases] Add [ Geugt UAA A cAlctleRgell welell RAld
charging of lead acid battery? electrolyte produced from atmospheric air of plates Ao Il 2 HIR WL RAMAHL cdural oeR sladl sclHiell AU Aot dulal
uld §? ELHA Ucll Eall
18 [Which is applied on the battery terminals to Solid grease Petroleum jelly Lubricating oil Liquid grease sle elacll e Kl 2facu Adls ol Ualcdlan 2dl dollselol et dlsclls ofla

avoid corrosion?

UR 9 cdusg ud 8?




19 [What happens to the terminal voltage of a Decreases Increases Remain same Falls to zero ol Als dBl dl Actell 2o TER Ll Azl & 2283 o Yl ued
cell if load is increased? AwHl 9 32812 W B?
20 [Which is the purpose of inverter? Convert AC to DC | Convert low voltage | Convert low voltage | Convert DC to AC [8scleell BU2llol 52 B? Ac Hidl DC A dleex Sl o dl dlees AC o DC uidll AC
DC to high voltage |AC to high voltage AC olotletell ole clede slllii | 6leS dl@es AC Hi olollelal
DC olECL M2 oGl M2
21 [Which device converts AC to DC in inverter? SCR Metal rectifiers Bridge rectifiers Full wave rectifiers |83 [SAUB™ BocleHL AU SCR ned 2silglaR olos 2slsaR st Aol 8clslAR
SRl ¥2a B2
22 |What is the full form of abbreviation of UPS? |Uni directional Power |Un interrupted Power | Uniform Power Un regulated Power [UPSell ¥8Ud] 23U} Y3 ol | Yoll SlARSAAA | Aot BogUSs ULAR Ylshl war ol YALS WA
Supply Supply Supply Supply 9 &7 Ul Al el el it
23 |Which is used as stand by source for critical Inverter UPS Voltage Stabilizer Regulated Power [l Arcttatell dRelesul 8ol UPS dx wollas»n: | YAes war
loads in absence of AC supply? Supply gldlsc Als 12 Ald dll3 sla AquA
GuALHL Ao B?
24 [Which converts light energy into electrical Thermistors Sensistors Photovoltic cell Light dependent  [uslal aUlsdo] [Agdalsant Ul A2 slel cdleeds Ad alge Slede
energy? resistor IUARA sl 52 ©? e
25 |Which batteries can be kept in the AC room Nickel cadmium SMF batteries Tubular batteries | Nickel iron batteries |88 tle?lal 8ocle? U ARl llsct s(Sam aesl SMF aezl YR a3l s uuel weil
along with inverter? batteries IHHL Aull asta B2
26 |Which is the unit of capacity of a storage cell? | Ampere-hour (A) Watt Volt Ampere (VA) Ampere Ry Actell el AsH s | W[2R-AcR(A) ale adlee W21R(VA) wrflaR
8?
27 |Which factor the capacity of a cell depends? | Distance between | Material of positive | Material of negative Size of plates sintoll el sal uRen uR ARl AR AR wRla e Al wQAze] Weall SR
plates plate plate WURA B? w2Rad H2Rad
28 |Which cell has high shelf life? Dry cell Leclanche cell Lithium cell Alkaline cell sAL AClo] WUYRL Aoy sl B? sl Ad AsAeA A dleflan Act UIEECALBl A




Name of the Trade - Wireman - 1°' Semester - 1 Year NSQF - Module 6 - Basic Workshop Practice

Question OPT A OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level

What is the name of the hammer? Claw hammer Straight pein Ball pein hammer | Cross pein hammer [UUE HR(6US])o] ol 9 B? sl SUR Ro2 Usl dHR olldt Usl MR Sl Ul MR [® 1

hammer

g
What is the size of firmer chisel? 1 mm to 30 mm 2 mm to 40 mm 3 mm to 50 mm 4mmto 60 mm [sict Aol R g sl B2 1mmaAdl30mm [ 2mm dl 40 mm 3 mm Al 50 mm 4 mm dl 60 mm C 1
How files are specified? By length By thickness By width By total length with [$I8Aal 2otl AMUR AAA1$l2L s daugsel ogstesell yalouesell B Aol gct A 1
handle wWA B? dougs ol

What is the use of cross cut chisels? Cutting keyways Cutting curved Squaring materials | Removing metal [sl&t s& A3ctoll GualolL 9 8? sl sl sral | anis ol wil | weudl of atule] | Aet glellor ugdl A 2

grooves at corners after chain drilling s(2ol sl Heilad g2 53l tldal g2 sl

Aol olsllaal M2
What purpose rough file is used? High degree Good finishing Removing less Removing more  [?% $I8C Sl &g HIE AUAA 87 ales (Sl slolla{lor| Rt slo{lallor ae [l Aect g2 sl | Hactoll ay weal D 2
finishing purpose metal and good quantity of metal UA AR glofl{lor [suell g2 sral w2
finish quickly R
What is the name of hacksaw frame part marked Handle Frame Fixed blade holder Frame length X 35 Rlad AAA &5 5H @ldlo] 8oSH 5 (35 0AS 8lESR | BH Aol AUSBRA2| D 1
as ‘X'? adjustment ollH g B?
How hacksaw blades are specified? Teeth/feet Teeth/ cm Teeth/ inch Teeth/ mm &5l 6As Aol AULUR WRllsa clavsle claal clasu Slandldl D 2
scUMl AUA B?

What is the use of fret saw? Larger curve cutting | Cutting sharp curves|  Internal cutting Cutting sharp and %2 2l ol GUaloL 9 B? el dais st | dlgud) anis UARs st sral | dlaEud) ua Ye: | D 2

S

EL1203H4

fine curves

sdl

stuct

anis s2lal scll




9 |What is the name of the tool? ‘G’ clamp Vice clamp Bench hook Carpenter's vice [l ALol(I&)e] ol ¢ 82 ‘G’ s alsA sAN Aot &5 slo2 R (YAUR]) cUsFU
g
10 [What is the accuracy of the wooden folding rule? 0.5 mm 0.25 mm 0.5 mm 1 mm gset sleslol 3ctell Asue Secl 0.5 mm 0.25 mm 0.5 mm 1 mm
alcl R eul?
11 [How nails are specified? By length only By type only By length and type | By length type and [Wldl(alca)al otl R 51 $5c dougedl $5ct usRl $5cl AolleS Aol AULE, U8R A
only gauge number  |$cllHl A B? ysiel Aoy sl
12 |What is the use of the carpenter tool? Marking lines Marking holes on  |Check the thickness Check the L YUl Altetall GUAIL 9 B? Atssloll YR 3 [ ctsst uR [Bal Wb Atsslall sLes ALsSLoll AU
parallel to face wood of wood squareness of wood Bottla AMIAR §cl cdual cdural
ALl tlotlelell
HEeR
8
13 |Which type of wooden joint is illustrated? End lap joint Middle lap joint Cross lap joint Corner joint RIS 52 YsRell clssiell o2 Aot AU A2 | s AU W52 sl AU Ao slolR Ao
oldldd 8?
g
14 |Which defect in timber is caused by the growth of Twisting Cracking Cupping Knot atuttell [Astedl aussiul sl vl 2dl2lat 5501 s\ lat alle (oUs)
branches? Gead &7
15 [What is the name of the drilling machine? Pillar drilling Radial drilling Electric hand drilling | Sensitive bench [ glellol Helloto] ot 9 82 et gldlot Hallet| 2lact gledlor Hallet | SAsEls &0 ot A2l oo
machine machine machine drilling machine H2(lot 51@[1'3L H2(lot

EL120541




16

Which formula is used to calculate cutting speed
(CS) of a drill bit of d = dia of drill, N = spindle

speed in RPM?

cs=Nrzd m/min
100

cS= Nnd m/min
1000

Nrr
1000

Cs= m/min

_Nnd  m/min
1000 x2

CS=

d = glatell caut, N = ¥lesct s
RPMHISA l, gl ollesll slat
als (CS) oll 2l sal 1 sl
}otell GuAdL A B?

cs=N 79 m/min
100

Nrd .
CS= 1000 m/min

cS = N=d

~ 1000 x2 m/min

17

Which speed can be achieved by the belt

2 times below than

3 times below than

Rated speed

Above rated speed

oo (3ol Halletui oA clclaa

225 WS sdl A

Res ls sl 2L

2es Als wadl

2es Als sdl ay

arrangement in bench drilling machine? rated speed rated speed ace alsarll gt el *lls Al ol el ol el
AslA B?
DRIVEN DRIVER
T ] |
18 |What is the name of the operation needed to Drilling Tapping Reaming Counter sinking  [¥goll &5 818 UQL AURElA UHIAR W@ NEED Ul Re5loL 5162 losloL
enable the head of the screw to fit flush with the A 3lA gle sal M2 scuMl ulddl
surface of a component? sila 9 s& 82
19 [What is the indication of the letter ‘M’ in thread BSF thread BSW thread ISO inch thread ISO metric thread [2s RUell M12 Hl A&R 'M' g el BSF 4s BSW as ISO 64 95 1ISO Ags s
formation M12? 8?
20 |What is the thread angle of British standard 60° 65° 55° 50° (od2lal 22tes$ ad (BSW) sl As 60° 65° 55° 50°
worth (BSW) thread? A g B2
21 [How many types of threaded fastening available One Two Four Three ISO 6 (YollsleSs) YsHl secl Us 2l AR AL
in ISO inch (unified) thread? ysiRetl A3s sielolol Guaou 82
22 |What is the use of stock and die sets? To make internal | To make external | To make internal | To make external [2ls Aol SL8 A2¥ell GUALL g B? OUSR HoHL  [olouslR Bl oual ARYU Hlotul ARYU WleHL GlLEL
threads in cylindrical |threads in cylindrical | threads in square | threads in square UldRs Ysicl) | As(ial) dotlatal | UidRs Asial) | As(uial) sletlaal
jobs jobs jobs jobs olelalal HI2 ue oloilclall HI2 2
23 [Which type of wrench is illustrated? T-handle tap wrench| Double-ended non- | Solid tap wrench Double ended  [[RISHI $2Ul USIRaAl R0 GlcllalcllH T-8o5A SU A | SUA WedS allat Adls 2u e SOl AedS
adjustable tap adjustable tap  [Ad 82 ASHRUA 2U U USBRUA U U

EL120636

wrench

wrench

24

What is the effect if the dies cut too
in the pipes while forming threads?

much depth

No effect threads
form normally

Threads forms
unevenly

Both die and
threads damaged

Pipe broken into
pieces

g5 olottatdl aua %l St auR
QLSLE oll el WS cl g AUR UA?

S1e5 WU &9
a8, el e
o Y

el WAHLet 3lA
oelld B

SLES Aol A2l lolal
ajs2llet UA

UWSUall 25SL U
%




25 |What is the name of the stake? Square stake Hatchet stake Blow-horn stake | Bevel-edge square [RALUG R§o] olldl 9 B? AR S dA2 w§ ocll Gl 8 Add UGS wAR
stake RS
26 |What is the name of the tool? Stakes “C” clamps Folding bar Angle steel L ALUA(RA)o] ol 9 B? RS ‘C’ s sleslol ollR Aol Rl
g
o
27 [What is the cutting angle of “v” notch marked as 30° angle to the 40°angle to the 45° angle to the 50° angle to the  [Algldul X 1S cdldat “v' el | lesdl wr ur | elleodl ik uz 40° | elleoll wir ur 45° | 2lleoll wirk uz 50°
X'? edge of the sheet | edge of the sheet | edge of the sheet | edge of the sheet |oll 5ol WoOLAMRL) 32l &2 30° yal el el yel

EL120865

28

What is the use of bent snips?

To cut straight slot

To cut internal holes

To cut external
curves

To cut internal
curves

o2 Relwiall GuloL 9 B?

{laul e stucl

UARS [Bal stucl

ollel aals stucll

UARS dnis stual

29 |Which notch is used, if a single hem meets at V' notch Slant notch Square notch Straight notch  [s12{QL RIDIA &4 clotlalall Hie sl "W allU A2 alA BAR olU e ol
right angles? ysiRell slluell GUA0L Ul B?

30 |Which type of notch is used for forming V' notch Slant notch Square notch Straight notch  [AGARA ¢lls olotldal HIe sl EVAEE WA alA AR alU Roe ol
rectangular box? YsRe{l alluell GUA0L Al B?

31 [What is the name of the part marked as ‘X’ in Snug Scriber Spindle Clamping Nut  [laalet A% AwHl ‘X ' 3% <((5A) WLTOR Wlosed scdllilat ote

universal surface gauge?

0

EL120255

olAlAA eldle] ollH g B?




32 |What is the name of the gauge? Limit gauge Radius gauge Thread ring gauge |Standard wire gauge [RAUc o] ol 9] B? dldle des Sla Ay g5 3oL A RS alaAR oy
3
33 [How to check the radius of the parts by using Comparing with Actual measuring | Calculated with the |[Visually displayed in [2Sl21 losall Guzlol s3lat eitollell RSl Aogell RSlat el L2 Aoy ol Sl Aul
radius gauge? radius of the radius | with the help of help of the radius radius gauge  |B%au 3l A ustall asta B? A2 WA detatt | Heedl ardds  [Heedl oAl 53| 2ulldl dla yelld
gauge radius gauge gauge 53la HlUet 53la Ul B
34 |What is the name of the tool? Bent snip Straight snip Side cutting plier [Diagonal cutting plier|tiets] ollH g 82 oS wllU R wl(lu AFs slEol wcar | staudleld sldal
AR
/
35 |Which is called as plate? Sheets over 2mm | Sheets over 3 mm | Sheets over 4 mm | Sheets over 5 mm [t@2 slal & 82 2mm Yl ay sl [ 3mm Al ay xSl [ 4mm dl ay sl | 5 mm dl ay sl
thick thick thick thick llext Allext allet allext
36 |Which type of stakes are used for riveting cone Square stake Hatchet stake Bevel edge square Blow horn stake  [2lg ws(Rell letal RAEOL sl HLe WAR S &2 ws oldd ASyS AR oCl Slol 28
shape articles? stake sl YslRell soll GUAoL Al B? RS
37 [Which makes the edge smooth and stiff in small Slant notch Single hem Double hem Square notch Which makes the edge smooth and Slant notch Single hem Double hem Square notch

sheet metal aritcals?

stiff in small sheet metal aritcals?




Name of the Trade - Wireman - 1% Semester NSQF - Module 7 - Magnetism and Capacitor

# Question OPTA OPTB OPTC OPTD Question OPTA OPT B OPTC OPTD Ans |Level
1 [Which is dia magnetic substance? Iron and nickel Aluminium Graphite Copper Which is dia magnetic substance? Iron and nickel Aluminium Graphite Copper C 1
2 |What is the metal composition of Permalloy? Iron and nickel Iron and copper | Iron and aluminium | Iron and chromium [uHclal auell (st g 82 Aol WA (st BAol Al SUR 2ol Aol el WA slHaU | A 2
AR
3 |What is the unit of permeability? Weber/metre No unit (mere Ampere turns/web [ ampere turns/metre? [ WHIRLGIARL ol 2AsH o &2 Ao / Hle? Ylle alcdl ol [ flaR 2ol / AR [ularR 2eal / Hl2?2| B 1
number) (oL vl
galala )
4 |Which property of a magnet is illustrated? Induction property |Saturation property | Directive property Poles-existing  [ROHL YJotsell sl QLU olcdld 872 | Bo5s2otall QUM | Aictclell ot | (2 oldlaauall U AsAL2lat C 1
property SIEUt ST
o<>§l
= %
5 |Which factor depends on the permeability of the Length Flux density Field intensity Magneto motive |83 URan He3lacte{l uHlauclldlel dolles AU ol (5cs Soeal2l Mool Hidla s | B 2
material? force uR [elR ®?
6 [Which rule is used to find the direction of the Clock rule Len'z law Ampere rule Corkscrew rule  [slectHl 2 YR emfoll (2l 2lucl sclls [an QAo [ AR [ sl5 2 lan B 1
self induced emf in a coil? HER sl Radell Guallal ala 82
7 |Which rule is used for determine the direction of Len'z law Right hand palm | Fleming left hand rule | Fleming right hand |82 &8 %l cllesHl JYusla QAoxs [Alan A2 &o5 UH 3¢ sAoatl steul el EIEEETEN B 1
magnetic lines in a current carrying conductor? rule rule uiAle{l (B au osteia 12 st slatoll Qan sletall [(Aaun
(Rl GuadL e 8?
8 [Which rule is used to find the direction of the Clock rule Len'z law Ampere rule Corkscrew rule  [sl8cHl YR emfoll (2l 2liau sclls [an Qo [ 2R [ sl5 g [an B 1
induced emf in a coil? HER sl Qadsll Guallol a 82
9 [Which rule is used to find the magnetic polarity Len'z law Right hand palm | Fleming left hand rule | Fleming right hand [ Qellessell Joislal WARElA 2lucl QAodbell [Aan A2 805 WH [Hau| sAotell siew sA[otell 1Ll B 2
of solenoid? rule rule HR sl [adell Guallol a 82 sletall [Aan slasll [
10 |What is the purpose of corkscrew rule? To find direction | To find direction of | To find direction of | To find direction of [sl53g [A2AMell & g B? YRd Emfoll [eal | $S52R0ll $Rcllall §552HL ool $5520ll AW | D 2

induced emf

rotation of the
condutor

the current flowing in
the conductor

magnetic lines
around the
conductor

llall HI2

(Bou ual w2

yaeofl (Rau 2ucu
e

jotglat uAle{l
all el HR2




11 |What is the name of the part marked as ‘X’'? Magnetic saturation | Coercive force | Residual magnetism Origin point X 35 Rlad edle] s g 82 25 ARt slRla S [RAlsyucd Nodlon]|  wRleaet W
s
= °f / i
)
x :
12 [What is the name of property that the flux Hysterisis Magnetic intensity | Magnetic induction | Residual magnetism [sctst 3a{l21 §021 Roaatssallol Sll [EEEEIEVIEN NoEls SeeclEl | NoRCls Boss2ct  [ALSYuA AoClaH
density always lagging behind the magnetising sl wen (A1) @ A dptia
force? 9 & 82
13 [Which is dertermined by BH curve? The retentiveness | The field intensity The magnetic The pulling power of [BH s g ¢lclld 82 HeRacoll uetdell st dladt | HeRadet Jusla | Axles HelRadell
of the material of the substance properties of the the magnetic Relaant opaLunl WAL AGA
material material
14 |Which force is required to demagnetise the Electromotive force | Magneto motive | Counter induced emf Coercive force  [(eze3 A cqunl st gasgl Hiela sl | o2l Hlela sl | s1Ge2R 8oSYU emf slRla sl
residual magnetism in the hysterisis loop? force N AHa SRR sl HIZ
sl Slaoll %32 B2
15 |Which is the example for inductor? Choke Transformer Buzzer Electric bell Which is the example for inductor? Choke Transformer Buzzer Electric bell
16 [Which law stares whenever the magnetic flux is | Faraday's law of Len'z law Fleming left hand rule | Corkscrew rule  [dsle A8 Noalles sets cls adl 534 FAsal QAod [Aan ALl stell 515 g [aun
linked with a circuit changes an emf is always electromagnetic Al sl EMF QR &t 8.d sl | AoalRs Bo552Uotall slatall [Aaun
induced it? induction @AM wctld B? BE
17 |What is unit of inductance? Weber Henry Ampere turns whb/m?> BoSseodlotll WSH 9 B7? AWR &at31 Al2R 2Re wh/m?
18 [Which law is used to determine the induced Fleming left hand | Fleming right hand Lenz's law Faradys law of  [$552Ul U[Rcl Emf otssl sall M2 sAolall stal el EEEZTEN QAo [Aan PEREAGRER
emf in a conductor? rule rule electromagnetic  |$2ll [(aAH cuR2A B? slasll [Ran slausll [Ran VRS Bo55atall
induction (BER
19 [Which formula used to calculate the magnitude di ' dt dt YRA Emf oll Yeloll LAl Hie di V = L x dixdt dt dt
of induced emf? voLx 2t V =Lxdixdt V=Lx— v=| 2L sl Yololl GUADL AL B? V:an V=Lx— V= 2L
dt i di di di
20 [Which formula is used to find capacitance? SURIZo Al Hie sAL Y2loll
Vv Q GuRlloL UL 8? Vv Q
C=QVvV C=Q+V C= — C=— CcC=QvV C=Q+V C= — C=—
Q Q o Vv Q Q o Vv
21 [What is the formula to calculate the total ol AR»ul 2L 3uRed (C1,
capacitance (C) if three capacitors (C;, C,, Cs) 1 cec cc.c C2,(g3)°zﬂ5laeu sa dl s . coc,
connected in series? = e e = 1273 _ 123 $0RRAU (C) oll 2Ll sal HI2 _ S S __ GGG |~_ _CiCsCs
C=C+C#Cs  |C C,+C,+C; c C,C,+C,C3+C5C, c C,+C,+Cy4 Y g Ry €= CatCatCs c C1+C,+C5 ¢ CiG+CCa+C3G C1+C2+Cy




22 |Which factor is inversely proportional to the Dielectric strength | Thickness of the Area of the plate Distance between [$3 URual SUAlecoll YRuoll Rt | SIABALTS o QAeall ssLes Weal (AR ARl ARe] R
value of capacitance? plate the plates YHIQWHL 8l B2 BENTE
23 |Which type of capacitor is known as polarised Mica capacitor Paper capacitor Ceramic capacitor | Electrolytic capacitor [s2ul UslRell $UR2 WAH/ASBS wsst sulleR TuR SU[ReR RRASs s [Fas2dlls SURle?
capacitor? 3R 33 v B2
24 |Which material has high dielectric constant? Air Paper Ceramic Polyester 58 AL G sIsAlBes Sloreoe sall quR RIS ulldaeR
uRAA B2
25 |What is the value of capacitance, if it stores 1 1 watts 1 ohm 1 farad 1 henry 1Al UR 1 g A% HIYS 52 B 1de 1 WeH 1503 REl
coulomb of charge at 1 volt? Al 3Uflecoll (Bud 9f 822
26 |Which dielectric material is used in capacitor? Empire cloth Milinex paper Ceramic Insulating varnish  [5UR2uL sl SLASALS AR sAld RAaAs QuR RIMs BoryA2loL allolal
H23lactsl Guallol Ul 82
27 |Where the variable air capacitors are used? Radio receivers Oscillators Amplifiers RF filters ARAAA AR FURI2Rel GUAdL HUl s A{lad wlRlAe? Andlgiad RF (5ceR
AA B?
28 |Which type of capacitor is used for space Plastic film type | Ceramic disc type Electrolytic - Electrolytic - o3Rlle{l 3[R UL Sl USLRell WllRes (s usik | RRMSs (S ysR sas2A2ls - sAs2lAlls -
requirements? Aluminium Tantalum type  [30R2260 GUDL AU B? ARjMAan 2ol YsR




Name of the Trade - Wireman - 1% Semester NSQF - Module 8 - AC Circuits

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level
What is the value of form factor? 1.23 1.11 0.81 0.707 sl §5220] He 9 B? 1.23 1.11 0.81 0.707 B 1
What is the RMS value of alternating voltage? 0.637 XV, 0.707 X V,, 0.637 X Vppax 0.707 X Vo |RAGRRAZDL cle%e] RMS HcU g 0.637 X V,, 0.707 X V,, 0.637 X Vppax 0.707 X Vax D 1
?
What is the name of AC value is illustrated in Effective value Peak value Average value | Instantaneous value [SI2s clltorell lcldet A Hels] | BRRSIRS YU D 1
dotted lines? alld 9 B? Uls yeu AR YU aalls yea
10-———
|
707 [ — |
| |
| |
s f
Ll 112 15 ts)
°T1 25 s 10\ | } }
e v
|
B9 —————————— i
1
O 8
Which quantity is rotating at a constant angular Scalar quantity Vector quantity Phasor quantity Algebraic quantity [$85 scllogldl Acdd sWQllar Aot uR BAR scllocll aseR sclledlil 522 scloclal U5 saA2lel | C 2
velocity? gl 8l B2
What is the shape of the waveform of A/C? Sine wave Square wave Sawtooh wave Pulsating wave |[AC ol dR213Us] USIR 9 87 UG Add ¥AR Ad gy Ao Yol da A 2
Which AC circuit wave form is illustrated? Pure resistive circuit | Pure inductive circuit|  Resistive and Inductance and ~ [RLAML 58 AC uls2ell Act gl Yo Bl Alse | Y voslseal lse Rl U Bos52e U Ulse | B 1
inductive circuit | capacitance circuit [AclAd 872 Bos(seal ulde 3URRZAU
. APPLIED VOLTAGE
Mm /
0 ! 270° |360°
90° 150'} }
B} | g
What is the inductive reactance of a coil having 62520 6273Q 6284Q 63820 50 ¢33 A Al glsaad{l UR 20H 62520 6273Q 6284Q 63820 C 2
20H inductance operating at 50 Hz supply 8os52a URladl sl8call Badsdlal
frequency? AAsea 9 622
Which formula is used to find impedance of a RLC A3lo alseq] Srllsext ; _ ; ; ; _ C 1
RLC series circuit? Z=\R2+(L+C) |z =4X2+(L-C)? [2=vRZ+ (X £X0)? | Z = /X2 +(R?+L?) [Scll W@ 52l Yool Gl et | 2 = VRP +(L+C) Z=AXTH (=) 2 = YREF (XL £ Xe)T | 7 = X+ (R?+L7)
8?




9 |Which formula is used to calculate power factor R V vV vV WAL AlSeall R $522 (Cosd) R vV v v
(CosB) of an AC circuit? Cos 6 =— Cos 0 =— Cos 0 = X Cos 6 = X oll 2QLARL sRall MR sl Yool Cos @ = — Cos @ = — Cos @ = — Cos @ = X
Z Z L ¢ |GualoL wa B? Z Z X, c
10 [Which formula is used to calculate reactive power P, = VA cosb P,= VA sin® P,=W6 P, = VA tan® AAAsEla waR (Pr) ol ozl P, = VA cosb P,= VA sin® P,=W6 P, = VA tan®
(P)? sl HIE sAL Yloll GUAL ARl
8?
11 |What is the formula for calculating admittances Y = G2 + B2 _ . > AWl Rt ASeatl AsHleat (Y) Y = G2 + B2 >
(Y) of a AC parallel circuit? Y=,G"+B Y?=,G +B Y?=,G +B® [oll ogddl Hide] Yo g B2 Y=,G*+B YZZVG +B Y?=yG +B*
12 |[What is the reciprocal of resistance in AC parallel Reactance Admittance Conductance Susceptance [l WA AlSeUl MRl AAsea Aslea $05 520 AAU
circuit? Rl 9 $& B?
13 |The S.I unit of frequency? Kilo Hertz Hertz Mega Hertz Giga Hertz (5scar(loll S.1 AU 520? (5l &2 820 ol &2 oflow e&»
14 |What is power in pure inductive AC circuit? 0 KW 1 KW 2 KW 5 KW Y& Bosselal AL UlseHl War 9 0 KW 1 KW 2 KW 5 KW
sl 82
15 |What is inductive reactance of AC inductive circuit 1256 ohms 1258 ohms 1260 ohms 1262 ohms %\ BoSSseotlo] HERL 4 Hz 8lal cll 1256 ohms 1258 ohms 1260 ohms 1262 ohms
if the inductance value is 4H? A Bosysilal UlBeell 8os5dlal
AAsea 9 62?
16 |What is the name of total opposition offered by Inductive reactance |Capacitive reactance Impedance Admittance RLC dlRlos alseall gct waRlu Bo5scla AAsea | SUAEla 3Aseat Sgrllseu AUsHlec
RLC series circuit? (QRAU)e] otiH 9 B?
17 |Which formula is used to calculate the impedance sl sifetlell Gualol RL Rl
Z) of R.L.Series circuit? =./R? 2 [ 2 = ./R? =,/ Uzt S1llse (2) ol o1addl = ./R? 2 f 2 =./R? Z =R+ X,
(2)o eries circul V4 R*+ X, Z=1R +X, Z R+ X, Z R+ X, S e o 2 gl Z R*+ X, Z=\R +X, Z R+ X,
18 [What is the formula for power in AC RC series VI VI cosq VI sinq O3 VI AC RC (@213 dlseul weR Hieq] VI VI cosq VI sinq O3 VI
circuit? Yot g 82
19 |What is effect of current in a RC parallel circuit? Ic Leads I by 90° Ic Lags Ig by 90° Iz Leads I 90° lr & | are in phase |RC AHIdR Ul 522 ol WAR Ic Leads Ig by 90° Ic Lags Ig by 90° Iz Leads I 90° Iz & I are in phase
9 87
20 |What is impedance in AC RC series circuit if 3 ohm 5 ohm 7 ohm 12 ohm ol %o 3 AlEL Mol Bosslad 3 ohm 5 ohm 7 ohm 12 ohm

resistance is 3 ohm and inductive reactance 4
ohm?

Aaseor 4 Ae A2 Al A RC
AR AlBeul U 9 82




21 |What is the relationship between line and phase _ Y | Sl salsalotHl Cltol ol 503 532 _ |
current in delta connection? I =lp I =3 || =—= IL = /3 1, [dsll 2oitL g B2 I =1lp I =~3lp | =—= IL =31,
3 V3
22 |Which formula to find phase voltage in 3 phase _ 1 vV 3 52 RIR $ASAAHL 5% ARy _ _ 1 vV
star connection? Ve = Vi Ve = ﬁv" Ve = NEYY, Vp= —= Al HIE 53 Y B2 Ve =V Ve = ﬁv'— Ve = J3v Vp= —=
L J3 L \/5
23 [What is the reactive power, if the active power is 1 Kw 2 Kw 3 Kw 4 Kw 3 %23 usleul ol Asdla waR 4 1 Kw 2 Kw 3 Kw 4 Kw
4 Kw, and the apparent power is 5 Kw in a 3 Kw 8, A Ue2 UlcR 5 Kw B, dl
phase circuit? AAsEla war 9 B2
24 |Where the artificial neutral is required for 3 wire star 4 wire star 3 wire delta 4 wire delta 3 %2 Alseul 52 Al Huiual 3 dl2AR RAR Sals2S [4 clAR RAR 5alseS |3 claR 3l 5aseS |4 claR el §ases

measuring phase voltage in 3 phase circuit? connected system | connected system | connected system | connected system ue gal-l e sl %351 8? Rren Rren Rzen Rrenu

25 | What is the power factor, if one wattmeter reads Unity Above 0.5 0.5 Below 0.5 352 UlaR HiUete(l A adledleR Ylo2l 0.5dl ay 0.5 0.5 dl 21l
zero and other reads some positive reading in two UglAul ol As dledleR 9o
wattmeter method of 3 phase power AL sl B ua ol Secys
measurement? WBRel Aol Hdld & Al UaR

$5e2 Becl 69?

26 |Which is the formula for calculations the power ] AqlAd Als =R AUl Sel _
consumed in a balanced load star or deta 3V, I Cosb \/§V|_||_COS 0 3V PIPCOSe \/§V|_||_S|n9 salses RreHHl Waredl awiddl 3V | Cos® ‘/§VLILCOS 0 3V PIPCOSG \/§V|_||_SInG
connected system? Heo] YA 53 B?

27 |What is the name of star point in star connection Neutral point Cross point Tapping point Phase tapping wire {212 5ols2lot RIRMUAHL RR o UBoe sl We2 2[doL Wde2 2 2[dol Wee2
system? Weoea] ol g B?

28 |What will be the neutral current in 3 phase- One More than one Zero Not zero 3 523 wAlAd AUlseUHl RJec Us Aus dl ay 9l Yot aile
unbalanced circuits? s22 9 &2

29 [In a 3 balanced star connected system having a 400 V 4157V 430V 450 V 333 AqlAd RR salse RiRHH 400 V 4157V 430 V 450 V
phase voltage of 240V calculated line voltage in %03 dleeos 240 V &l Al Altsal
the circuit? dl2ell oLl 52

30 |Which type of the power measurement is used Single wattmeter Two wattmeter Three wattmeter Voltmeterand |3 RR2HHL AJ[Ad A AH¥G[Act Road ale Hle? ol cle Hlz: Aus | 2 clle HlzR Aus | cdlee HleR wa
fore balanced and unbalanced louds in 3 system? method method method ammeter method  [GlS HIZ sl UslRell WaR nas AHle: AuUs

HUotoll GUR0DL UL B?




Name of the Trade - Wireman - 1°' Semester NSQF - Module 9 - Earthing

# Question OPT A OPTB OPTC OPTD Question OPTA OPT B OPTC OPTD Ans |Level
1 |What is the purpose of system earthing? | To maintain ground | To reduce the load To protectthe  |To reduce the losses|ReH u[oLell & 9 B? AULGBss A AlRA Als 22 dalsdl ssAURRU o AR{A detsal A 2
at zero potential current equipment from WA UR AR Alsl
over load el Awal 1R olAtalal

2 |Why earth resistance value required to For quick current For easy For low power | For low voltage drop [2l Ml A& ucRltle] Yl Wol ol | s22ell BsUL cleet AR HIUet e | ool dlay aurial [oflal dleee glu Hie| A 2
keep very low? flow measurement consumption Aud 33 B2 He HR

3 |What is the minimum length of the earth 1.5 meter 2 meter 2.25 meter 2.5 meter WY BAsS WUl Ay dolles 1.5 Hle? 2 Hle? 2.25 22 2.5 Hle? D 1
electrode pipe? secll aldll e

4 |What is the miniumum size of the plate 30cm to 30cm 60cm X 40cm 60cm X 50cm 60cm X 60cm  [wA2 8AsSell oot U secll 30cm to 30cm 60cm X 40cm 60cm X 50cm 60cm X 60cm D 1
electrode? alcll A ?

5 |What will happen to the value of earth Remain same Increases Decreases Infinity ol weuell dale el AY ¥ 33 augl TER Uloicl C 2
resistance, if length of the earth pipe is AU Al A wcAUatl Y] g U
increased? ?

6 |Which type of holder is recommended for Angle holder Bracket holder | Battern lamp holder |Pendant lamp holder|BIS 3ol a(eol sall Hie sl Aol BlesR ade 8lesR oleal Q1Y 8lesR | Uodod AXU GlESR | B 2
earthing as per BIS? YslRell slesell el sRaHi

uld B?

7 |What is size of earth conductor used in 8 SWG 10 SWG 14 SWG 20 SWG R AUl A o552l SR 8 SWG 10 SWG 14 SWG 20 SWG A 1
power load? 3ecll alcll AesA?

8 |What is the range of good earth High resistance | Very low resistance | Medium resistance |Very high resistance [2U21 48l wcRAuUoll 3% S2dl 82 REER A3l Al 20fReo HlSlan Roflkeat | Al el Rt | B 1
resistance?

9 [How earth resistance value mainted in Use new electrode | Use new coaland | Use new earth wire | Use water and  [GollUHl el cRlls] el 5cll ol BASYLS AU | otcll SIAUL Aol olc{l A ctaRell | willell GualoL A | D 1
summer? salt layer maintain wet A e WA 8?2 Hlsloll 2clRall GuaaL 5 ua elloll @A

condition Gualat A ool

10 |Which method is used to reduce earth Reducing the pit Increasing the Decreasing the | Connecting number &l AUcRlua talscll Hie 8¢ ol e vustell | sAsglsell doudul | sasalsell doueSHi AR ud D 2

resistance? depth for earthing length of the length of the of earth electrode in [Ugldell GUAL sl U B? Gstes uatscll aulR aelsl saAsg\sell Avallal
electrode electrode parallel LN
11 [Which instrument is used to measure Megger Ohm meter Wheatstone bridge Earth tester B BcRlYal HIUdl HiE sl NUR vled Hle? cgleelat oflos wd 2w D 2

earth resistance?

Altlotoll GUAL scALHL LA B?




12 |What principle earth tester works? Potential dividing Fall of potential Fall of resistance Current dividing |8l 2R sl Rlald UR sl 82 82 WRlAad Sl s WelAaud | sl s Rl | 522 [Saugslol Aas
method method method method Baugsslol Aus AYUs nUs

13 |What is the reason for supplying AC to AC is easily Protect the coils in |Reduce the value of | Avoid the effect of [dl AR HiUual U2 8As2ASA | AC ARl uall Hleul slscal leul szl sAs2lcAldls Emf
the electrodes for measuring earth available the meter current in the meter | electrolytic Emf  |A{l el wluclle] 51201 9 87 WD YRAd 52 HeuHl Yalsl 52 | enctoll URaA 2l
resistance? interference

14 [How many primary winding required in One primary winding Two primary Three primary Four primary ELCB Hi $2cll WaH3l ateSoslatell As YAl ol YAl cugsslhot PTETIRSTERTE AR YAl
ELCB? windings windings windings %32 8?7 aleSaslol aleSoslol aleoslal

15 [What is the purpose of the ELCB? Control the fault | Protect the residual Protect the Protect the circuit [ELCBell &q g 87? slce Uls2 sR2a RIsYPuct sea R AsYl Uls2a ale lsedl

circuit current current equipment from from short circuit QR 52 YA 53 GusU YA 52 Y& 52

over load




Name of the Trade - Wireman - 1st Semester NSQF - Module 10 - Basic Electronics

# Question OPTA OPT B OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level

1 |Which element is used as semi conductor? Silver Silicon Copper Aluminium $3 clecl AWM 505522 Al AU B? RcaR RAslot sluR AR AR B 1

2 |How many electons in a silicon atom? 7 14 29 32 RAslot AURHL Secll BASlet sl B2 7 14 29 32 B 1

3 [How the N type semi conductor is formed? Germanium with  [Silicon with antimony| Silicon with iridium | Silicon with arsenic [N UslRell AMso5522 Sl 3A olal Germanium with Aol WA o3SaM A URls W A 2

aluminium 87 aluminium sl RSt RSt

4 |Which is element is used as inpuring to Arsenic Aluminium Galium Boron N UsiRetl A{lsosseR letlaial Hie wells ARMEAUH Adlan ollRlel A 1

provide ‘N’ type semi conductor? sl cecloll GUNoL Bol1RfFol A3l
AR B?
5 [How the P - type semiconductor is formed? Germanium with Silicon with indica | Germanium with Germanium with [P 2leu A 505522 5l A wa 82 S WA Sdst WA RAset|  vleeHoll Bledsl WA D 2
phosphorus antimony indica aiAan aan oo{((Raun

6 |What does the depletion region behave? Conductor Insulator Semi conductor Resistor $1Aalet IAad 5l A ad 82 $a552 REDICEE Al o552 0MReR B 2

7 |what does letter ‘2N’ indicate in the The diode PN The number of The device power | Two junction device [A[H805522 [SAUBAUHL 2N WaR 9 [stals Ul Aot oset| 2 lotcuoll vl (Sausxy war ol os9al [Scust | D 2
semiconductor device? junctions terminals yAA 82

8 |What is the use of LED? To rectify AC to DC | To reduce the ripple | To regulate the To indicate light [LED ol GUdL g &? AC Hidl DC Aud datsal e | d@wa [eRd | st Aoda we | D 2

voltage oloilelell M2 s2cll

9 |What is the function of forward biased PN Act as uni Act as bi directional |Act as control switch| Act as limit switch [$lRclS o2l PN %52let slallse] st2l | As (eausla 2 | (o (eauslal :ellu solcd el ARy | cllle el Ry | A 2
junction diode? directional switch switch 9 8?2 d3l% s 52 3% sial 52 sl s sl 82

10 [What is the PIV of the diode if the AC input 32V 33V 34V 36V ol WY Bolye clee 24V &lA dl 32V 33V 34V 36V C 2
voltage is 24V? sllsq] PIV 9 87

11 |What is the purpose of heat sink in electronic | Keep temperature Keep voltage Keep currents Keep resistance |8Asgllals AlseHl éle Rsal od ¢ AlUHLolal 8RB ARy SRDA s220 8RO Rl 8RO A 2
circuit? desired range desired range desired range desired range  |®? UL el UL vl o HL vAual o HL RAval

12 |Which material used for making heat sink? Copper Aluminium Iron Zinc gle Rs slotlaal 12 sal HeRacsl slUR ARAEAAUH (el AMs B 2

GuloL A B?
13 |What is the expansion of PIV? Peak Input Voltage | Positive Inverse Peak Inverse Phase Inverse  [PIV of Y3 oll{ 9 87 Uls golye dleex | Wdela gotarl Uls gotaldl cdlee | $2 totad dleexs | C 1
Voltage Voltage Voltage Al




What is the relation between input AC voltage | Vg = 0.45 V. Ve = 0.637 Vg Ve = 0.707 Vg Ve = 0.9 Ve A Ad Ase gAML Betye AL Ve = 0.45 Vg Ve = 0.637 Vg Ve = 0.707 Vg Vee = 0.9 Ve

(Vac) and output DC voltage (Vpe) in full wave clezes (Vac) wal wuBeye Sl

rectifier? AR (Vdc) cRA 9f ol 82

Which type of filter is illustrated? Pl filter Series Inductor filter RC filter Choke input LC filter [RLotHL 2l yslR4 (3c22 87 PI (ceR ARl Bos522 ($c2R RC (5c2R Us Betye LC (s
[
| |

wer | Reower | | | mw

T FILTER é\ o g




